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15 3.600| ; g5 3.900] , 504 4200] 5 45g 4500| , 413
48 37 1.6 3,840 4,160 4,480 4,800
1.7 4,080 4,420 4,760 5,100
2/km [kg/km
14
15
1.6
1.7
g NAb IMEHEE=ITXRE X FH=E X EE x1.000+-60)+2
‘ (ke/30%)  (km/h)  (/km) )
A5
E—X 30 EIMt 2 =i T3RE x EfH= % 1.000+-60)=2

(kg/30F)) (km/h) (kg/km) (4)




= 4
NO 1 BE #LIE830 ¥ 24-—68

HERAT IR FRILIREICE T HEDAIE

g 15cmDIZE INEVRE — RAVNEELS
RV E—XMHEBEEH 1
~ 4 Y bk E — X RAVNEE
FIARKRTED 25Kg/cm?’ ERE 0.25MPa
F2RHRVTED 50Kg/cm? FTE 6m/m
FoRRTHHIE A 7.0MPa
FyTZE GPN-651m/m
Ak HfI:g
MM HBYMLEEHE AT 15324 Yt 5 HtHEFEHIE
B I EEFRAUF BROEE  |["(oMHHE 91247
¥ l=g G1 G2 G1—G2 125
1 5,703.0 1,133.0 4570.0 9,140.0 |ZEFNEFH £2%
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